S009: Newton’s 3rd Law of Motion

Answers: 1. A, 2. A, 3. A
1) A toy cart that has a weight of 10 N moves with a constant velocity of 2 m/s to the right on a horizontal table. According to Newton’s laws of motion, which of the following statements is correct?

	A.
	The table exerts a force of 10 N upward on the toy cart.
	
	B.
	The toy cart exerts a force of 10 N upward on the table.

	C.
	The toy cart exerts a force of 2 N downward on the table.
	
	D.
	The table exerts a force of 2 N to the right on the toy cart.


Source: MCAS: 2009, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
2) A hockey player swings her hockey stick and strikes a puck. According to Newton's third law of motion, which of the following is a reaction to the stick pushing on the puck?

	A.
	The puck pushing on the stick.
	
	B.
	The stick pushing on the player.

	C.
	The player pushing on the stick.
	
	D.
	The puck pushing on the player.


Source: MCAS: 2007, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
3) The forces acting on a skateboarder moving at a constant velocity along a sidewalk are shown in the figure below. Which of the following is the net force on the skateboarder?

	Normal force = 600 N
Weight of skateboarder = 600 N

[image: image1.png]





	A.
	0 N
	
	B.
	70 N

	C.
	670 N
	
	D.
	1270 N


Source: MCAS: 2006, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
